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10-1 BEEIASLY TRMEE
(Bfp:-FH.AN)
ﬁ)ﬁ%%—)k At EFE,%—A N . B .
FE =Y iel) HEFE | _ = b)) MEEHN Ad EREH
TRMLEE E A& R
FRR24EE 4,240 2,456 3,877 26,735 57,293 25,998
FRR25EE 4,523 2,566 3,908 26,875 57,194 25,813
ER265E 4,643 2,517 3,893 27,016 57,075 25,631
FER2IEE 4,843 2,638 3,940 27,150 56,520 25,443
ER28FE 5,458 2,717 3,979 27,628 56,231 25,592
ER29FE 5,229 2,777 3,998 28,111 55,876 25,736
FRRI0EE 5,248 2,733 4,022 28,578 55,666 25,851
SHTEE 5,097 2,693 3,973 29,040 55,276 25,952
SH2EE 4,342 2,539 3,890 29,533 54,571 26,074
SH3EE 4,556 2,700 3,876 29,296 54,148 25,877
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10-2 TR E

B (EAA)

%) SHEE | SH2EE | SNTEE | FRIEE | FR29FE
TR EE 207,619 201,047 225,110 227,308 219,452
FIREE 926 1,053 1,149 1,348 1,597
BX 903 1,029 1,135 1,316 1,563
HE 22 22 12 30 31
KEZXE 1 1 2 2 3
SEOREE 86,567 83,868 102,076 104,074 96,582
S 435 452 453 459 465
HEX 80,580 77,913 92,998 96,725 86,925
BEE 5,553 5,504 8,624 6,890 9,193
SEIREE 117,970 115,088 120,654 120,467 120,034
%%’_;‘Eéx'*ﬁ%'%ﬁ 4,887 4,594 4,671 4,542 4,550
EN5E - /NFEEE 17,892 17,209 17,088 16,974 16,859
1E G - BMEE 12,834 12,332 14,795 14,117 13,188
BASREBY—EXE 1,779 1,853 2,644 2,771 2,647
EHREER 742 764 613 577 512
b RIEE 2,224 2,136 2,276 2,283 2,237
TEIEER 27,321 28,005 28,973 29,342 30,224

Ny Iprem—"—

#5;%—@‘4;;1’“‘ *BX 4,122 3,943 4,037 4,063 4,096
NS 6,816 6,828 6,614 6,393 6,171
BE 5,232 5,195 5,004 4,880 4,762
REGE -HESFE 29,240 27,564 28,268 28,272 28,042
ZDHDHY—E R 4,880 4,666 5,670 6,253 6,747
A G ZER SN S F - BEfR 4,260 3,556 3,901 3,992 3,598
%ﬁ?”’ﬁ‘ﬁ*ﬁ’m‘%é’ﬁ 2,104 2517 2,670 2572 2,359
FIREEERL (%) 0.4 0.5 0.5 0.6 0.7
F2REEERLE (%) 41.7 41.7 45.3 45.8 44.0
SEIREEERLE (%) 56.8 57.2 53.6 53.0 54.7
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Hiu(BAM)

%) PRR28EE | TR2TERE | TR26EE | TR25EE | TR24EE
TR EE 223,750 194,052 189,002 181,863 170,674
FIREE 1,635 1,598 1,432 1,449 1,365
BX 1,607 1,553 1,387 1,402 1,335
HE 25 43 43 45 26
KEZXE 3 2 2 2 4
SEOREE 102,558 74,646 73,701 71,704 66,607
3= 443 522 520 271 103
HEX 84,160 59,764 65,995 62,891 59,564
BEE 17,955 14,360 7,186 8,541 6,939
SEIREE 118,475 116,539 112,220 107,405 101,600
%%’_;‘ng'*ﬁ%ﬁﬁ 4318 4,981 5,330 4,735 4473
EN5E - /NFEEE 16,204 15,978 14,786 13,751 13,154
1E G - BMEE 12,022 11,247 10,596 10,177 9,988
BASREBY—EXE 2,520 2,268 2,295 2,300 2,311
EHREER 452 1,041 1,384 2,086 2,699
b RIEE 2,188 2,516 2,755 2,630 2,414
TEIEER 30,610 29,775 29,293 30,356 30,347

Ny Iprem—"—

#%’Ef—.é%;gm‘ RBX 4,154 4,168 4,126 4,146 3,961
NS 5,976 5,819 5,107 5,337 5,353
BE 4,502 4,653 4,821 4,316 4,076
REGE -HESFE 28,325 26,925 24,677 21,113 16,951
ZDMDHY—E X 7,204 7,169 7,049 6,458 5,871
A mICERIN S - B 3,355 3,329 3,335 2,454 2,119
%ﬁ?”’ﬁ‘ﬁ*ﬁ’m‘%é’ﬁ 2273 2,061 1687 1149 1016
FIREEERL (%) 0.7 0.8 0.8 0.8 0.8
F2REEERLE (%) 45.8 38.5 39.0 39.4 39.0
SEIREEERLE (%) 52.9 60.1 59.4 59.1 59.5

XBEEL. EZAAROBHTF—BLEL 0. BREH (BB BEAER-FHEERZ) A
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10-3 WRA"T (2E)

(B4 5AH)

X5 SHREE | SH2EE | ST EE | FRI0FEE|FER29EE
R E) 146,182 138,542 148,859 152,120 155,193
(W ERZEHRM Gt 100,304 101,421 103,099 103,980 102,892
(1) E&-&#44 86,578 87,621 88,945 89,901 88,676
(1) EFXnREHEEE 13,127 13,089 13,103 12,838 12,996
WEFnREHHEEE 598 710 1,050 1,241 1,220
() BtEmE D 8,536 8,169 8,639 8,719 7,785
(2) 2B 9,025 8,653 9,167 9,282 8,435
(2) %% 489 484 528 563 650
(2) (NER) — RS BUAT (5 B %) (Bt) -6 -25 -28 -49 -91
(2) (RER) — AR BT (b A B ) (ZE) 235 232 226 218 214
(2) (RER) — AR BT (b A B ) (2 3h) 241 256 254 266 305
(2) (NER)) K&t (BH) 8,421 8,090 8,565 8,657 7,774
(2) (NER) K&t (FIF) 3,208 3,333 3,792 2,741 2409
(2) (NER) Rat (B s (FH)) 3,442 3,547 4,049 3,024 2,741
(2) (NER) Rt (20D E/MT (FE)) 2,386 2,402 2,492 2,650 2,685
2) (NER) Rt (EEH (FW)) 1,701 1,534 1,555 1,588 1,760
(2) (AER) xt K5t REFEE FIFA (B) 121 103 102 111 102
(2) (NER) M RETREIEEFIFA (ZE) 135 118 121 125 115
(2) (NER) M RETREIEEFIFA () 14 14 18 14 13
Q) fXEmE G 37,343 28,952 37,121 39,421 44517
Q) REEALE 20,713 11,890 20,011 21,489 25,390
(3) HITZE 350 334 320 495 527
Q) EALTEGD 16,280 16,729 16,791 17,437 18,600
Q) EATE (EMKESE) 308 386 455 525 814
Q) EATE (ZDMDEXE) 6,486 6,097 5,725 5,968 6,403
Q) EALTEFEER) 9,485 10,246 10,611 10,945 11,383
R (EREIREN) (%) 68.6 73.2 69.3 68.4 66.3
W (B1ESR) (%) 5.8 5.9 5.8 5.7 5.0
B (S EMS) (%) 25.5 20.9 24.9 25.9 28.7
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(B BAM)

X 4% R 284 | T A2 T4 FE | T A 26 4F | TR 254F B | A 24 4F FE
R E) 152,799 149,109 143,682 146,778 140,687
(W ERZEHRM Gt 101,837 100,252 99,787 100,870 100,790
(1) E&-&#44 87,845 86,508 86,696 87,595 87,763
(1) EFXnREHEEE 12,775 12,367 12,134 11,981 11,763
WEFnREHHEEE 1,217 1,377 958 1,294 1,263
() BtEmE D 7,598 7,533 7,182 6,938 6,951
(2) 2B 8,298 8,272 8,008 7,643 7,647
(2) %% 700 738 827 706 695
(2) (NER) — RS BUAT (5 B %) (Bt) -130 -132 -147 -177 -190
(2) (RER) — AR BT (b A B ) (ZE) 198 205 221 211 204
(2) (RER) — AR BT (b A B ) (2 3h) 328 337 367 388 393
(2) (NER)) K&t (BH) 7,641 7,585 7,248 7,040 7,073
(2) (NER) K&t (FIF) 2,120 1,886 1,119 1,586 1,892
(2) (NER) Rat (B s (FH)) 2,478 2,270 1,561 1,895 2,186
(2) (NER) Rt (20D E/MT (FE)) 2,727 2,958 3,182 3,315 3,185
2) (NER) Rt (EEH (FW)) 1,699 1,530 1,289 1,121 1,017
(2) (AER) xt K5t REFEE FIFA (B) 87 80 80 75 68
(2) (NER) M RETREIEEFIFA (ZE) 100 98 97 83 75
(2) (NER) M RETREIEEFIFA () 14 18 17 8 8
Q) fXEmE G 43,364 41,323 36,713 38,971 32,946
Q) REEALE 23,900 21,094 17,820 18,934 13,690
(3) HITZE 519 653 521 547 559
Q) EALTEGD 18,945 19,576 18,372 19,490 18,698
Q) EATE (EMKESE) 800 752 544 687 671
Q) EATE (ZDMDEXE) 6,196 7,045 6,021 6,029 5,144
Q) EALTEFEER) 11,950 11,779 11,807 12,774 12,883
R (EREIREN) (%) 66.6 67.2 69.4 68.7 71.6
W (B1ESR) (%) 5.0 5.1 5.0 47 49
B (S EMS) (%) 28.4 27.7 25.6 26.6 23.4
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